1. What number is 1. What is the average

halfway between 2400 of 2.4 and 7.8?
and 30007

5 2. PF=34+
2. Rewrite E in its
lowest terms. 3. x=3, y=5

3y +2x =
3. What fraction of a
day is 1 hour? . 25% of 250
4, 10% of 50 = . What is I of I ?
2 g
5. 0.3 +0.002 + 2.04 =
6, 6=
6. Put these numbers in
order, largest first. 7. What number is
7.05 7505 7017 7.5 hnlfwug between —6 and
4?7

7. Complete the
sequernce. 8. Write this number in
44 46, 48 |0 L] words 34,598
8. Which is the odd one 9. 604 = 2 =
out?

235 89 759 568 711 10. Complete the

sequence.

9. What is the value of 475, 5, 525, . I
n?
17 +n=36 11. Put these numbers
in order, largest first.
10. Double 37 9.4, 9.07, 9.256
11. Estimate 437 + 281 12. Eddie starts school
8.50am and finishes
12. What is the sixth school at quarter past
month of the Henr? three. How lun.g is the

school day?
13. 5 x4+ (3 x5)=

13. How many months
14. The Council raised are there in a decade?
£2014 in 2012 and £1894
in 2013. How much did 14. Insert <, > or =

theg raise in total? 0.078 0.08




1. What number is
halfwuld between 2400
and 30007 2700

2. Rewrite ~ inits
lowest terms. |

2
3. What fraction of a 1
dag is 1 hour? 2_,4

4. 10% of 50=5

5. 03+0002+204=
2.342
&. Put these numbers in

order, largest first.
7.505, 7.5 7.05, 7.017

7. Cnmpl_etethe
sequence.
44 46, 48 5 52

8. Which is the odd one
out?

235 89 759 568 711

9. What is the value of
n?

17+n=36 n=149
10. Double 37 74

11. Estimate 437 + 281
720

12. What is the sixth
month of the year? June

13. (5x8)+(3x5)=35

14. The Council raised
£2014 in 2012 and £1894
in 2013, Hew much did
they raise in total?

£3908

1. What is the average
of 2.4 and 7.8? 5.1

. 9% =34 + 47

. x=3, y=5
S3y+2x= 21
. 25% of 250 62.5

1
16

1 1
. What i f_ 2
atis o of ¢

. 63 =216
7. What number is

halfway between -6 and
& -1

8. Write this number in
words 34,598 thirty-four
thousand, five hundred
and ninety-eight.

9., 604 + 2= 202

10. Cnmplete the
sequence.
4.75,5,5.25, 55, 575

11. Put these numbers

in order, largest first.
9.4, 9.256, 9.07

12. Eddie starts school
8:50am and finishes
school at quarter past
three. How long is the
school day? 6 hours and
25 minutes

13. How many menths
are there in a decade?
120

14. Insert <, > or =

0.078 < 0.08




